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� ���1� 9� �%
,�
�.#

G(Z) =
G(0)

(1 + Z)2
=

1

(1 + Z)2
. X42W

,�*�0� �� xn g0� d� 
��i ���� ��'�� g� 0� �� G(Z) �� �"�#b� ��� �:�

G(Z) =
1

(1 + Z)2
=

∞∑
n=0

(−1)n(n+ 1)Zn, ⇒ xn = (−1)n(n+ 1). X43W

9�:" ��� D
,��*� �>��Y# �� I(1)

n =
∑k=n

k=0
k 
� ��'FS �*+ ��
��� (5�)�V#

,�
�1� -�� �� �� �*�.# E�C 6� �� In �� 
�.'i�R� 
� ����(# ������.# .:��� ��

I
(1)
n+1 − I(1)

n =

n+1∑
k=0

k −
n∑

k=0

k = n+ 1. X44W

,-�� ?
�> �� G� #�� G� i�R � ?
 �+ -� F� 1 -�� �RC X44W �� + -� F� �� �� Il d� 
��i b� FS
9� �% ,�
��:.# J��S 6��*H �� �� I(1)

n = αn2 + βn+ γ �� �-�� .B� n �� ->0� -��� -� F�
���*� 
��o:�S X44W 
� ����(# �� �� �
���$ Z�2 �� .���S �:� ,γ = 0 ����.# ����� �I(1)

0 = 0

,�*
�.# -�� �� β 1 αd� 
��i

α(n+ 1)2 + β(n+ 1)− αn2 − βn = n+ 1 ⇒ α = β =
1

2
. X45W

,I(1)
n = n(n+ 1)/2 ��%.# ����� �S�
� $� ��


� � ��� ( # �� I
(2)
n !��C�
� �� ,� � * � � >��Y# �� I(2)

n =
∑n

k=0
k2 
� �� 'FS �*+ �� 
� � � (6�)� V #

,�*�.# E�C �
$ 
� .'i�R�

I
(2)
n+1 − I(2)

n = (n+ 1)2. X46W

����.# ����� �I(2)
0 = 0 9� �% ,�
��:.# J��S 6��*H �� �� I(2)

n = αn3 + βn2 + γn + δ Z� �2
,�*
�.# -�� �� γ 1 β 1 αd� 
��i �X46W 
� ����(# �� J��S 6� ��*H �� Z�2 �
� 
� ��o:�S �� ,δ = 0

$� -�� !��>H �
�.# -�� �� d���� �
� �� �� .���S

��
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m

M

v0
u0

I(2)
n =

n(n+ 1)(2n+ 1)

6
. X47W

,�
�1� -�� �� ������.# d���� ��F� �� 5�� �� I(3)
n =

∑n

k=0
k3 
� ��'FS �*+

I(3)
n =

n2(n+ 1)2

4
. X48W

,�
��:.# N �� 9�0P� �� ��(� 1 α �� &�1 
� ��M� ,���:.# &�1 ?��� $� C0 
� �$���� �� 
��7 (7�)�V#

� �$���� �� 1� g0P ?
 $� �� ,�*� -����� �
�� Xq A= V#W .T'># �+ g0P �� �� 1� ��*�>� ������.#

,-�� ��	��� Cn 
� �$���� �� g0P n $� �� 1 -�� ��	��� Xr := 1 + αW �C1 = rC0 − q

Cn = rCn−1 − q. X49W

,-�� q/(r − 1) l�� J� ��S 1 Arn �:�� �� <� J� ��S

Cn = Arn +
q

r − 1
. X50W

��%.# ����� �C0 
� ���1� 9� �% $� ���R��� ��

Cn = C0r
n − q(rn − 1)

r − 1
. X51W

���*� ���R��� CN = 0 
� $�# 9� �% $� �
�� �
�1� -�� �� �� q g0P ����/# �� 6� 
� ���

q =
C0(r − 1)rN

rN − 1
=
C0α(1 + α)N

(1 + α)N − 1
. X52W

-��2 �� u0 -� H�� �� ��M &��S �� 
�D
� 
� ��� -� F� �� v0 -� H�� �� m &��S �� 
���� (8�)�V#
��M �� ������ $� �� m &��S ,�
��D� 6���� �� ��� 1� �� �� ������� ,Xu0 < v0W ��%.# J���� -��
.� 
�M� -� H�� ������.# ,�
��:.# 6���� 5�� �� ���
� �� m ������� ,�*�.# ������ ���
� �� 1 ���:.#
6���� �������� 6�+ ,�
�1� -�� �� �� �� �� ��6� ������� �� ��(� ��*+�� 1 M 1 m 
� ��&�S

�	



,-�� ��0
�� G� 
� ���	� ��
���� .S��� 
� 1��� �&�S 1� ������� �� 6�+ 1 -�� ��0
�� 
3��� �*�0�
,��%.# ��H ��� 
� ���	� -� MS g/7 ���
� �� ������ ��

��#�N k + 1 $� G>PM &��S -H�� 1 vk �� ^������ ��#�N k + 1 $� G>P m &��S -H�� 
� �$����
����.# . >*S 
� 3��� 1 ���	� 
� �/� ,�
��:.# uk �� ������

mvk +Muk = −mvk+1 +Muk+1

mv2
k

2
+
Mu2

k

2
=
mv2

k+1

2
+
Mu2

k+1

2
. X53W

,�
�1� -�� �� uk 1 vk d� 02 �� �� uk+1 1 vk+1 ������.# g��1 � �
� $� ���R��� ��

uk+1 =
2m

M +m
vk +

M −m
M +m

uk

vk+1 =
M −m
M +m

vk − 2M

M +m
uk. X54W

X54W �� J��S 6� ��*H �� �� uk = BZk 1 vk = CZk 
� ��Z�2 �� -�� .7�� ������(# �
� G� 2 
� ���
,��*� 
��o:�S

BZ =
2m

M +m
C +

M −m
M +m

B

CZ =
M −m
M +m

C − 2M

M +m
B

⇒ B

C
=

2m/(M +m)

Z − (M −m)/(M +m)
=
Z − (M −m)/(M +m)

−2M/(M +m)
. X55W

,�*
�.# -�� �� B/C 1 Z ����(# �
� G� 2 ��

Z = e±iθ, cos θ :=
M −m
M +m

B

C
= ∓i

√
m

M
. X56W

$� ���c!��>H uk 1 vk

vk = Ceikθ + C∗e−ikθ

��
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xxxxxxx m

M

v0

M

u0w0

uk =

√
m

M

(
−iCeikθ + iC∗e−ikθ

)
. X57W

,�*%�� �� g� '�<# �� 1�5# C
∗ 1 C �� ��%.# �
� �� ��*# ��-H�� 6� ��� ./�/2 �S�
� ��
u� 
�(� ����� ��F� 6� ��1� -�� �� 
� ��� �D
� ���� ?


Sk := vk + i

√
M

m
uk, X58W

��� 6� � 6���.# .�2�� �� X54W $� ���R��� �� ,-��

Sk+1 = eiθSk = · · · = eikθS0, X59W

�� �� ������� �� ��(� ������.# ,u0 = 0 1 m/M = 0.01 ��*���7 ,���� �� X56W u� 
�(� 6�F� θ ��

������ �D
� ��6� 9� �% ,θ = 11.4◦ ��%���� 
� ����#���� $� ���R��� �� ,�
�1� -�� �� �� &�S 1�

��� -�� 6� ���D� !��C

vk ≤ uk, ⇒ cot(kθ) ≤
√
m/M = 0.1 ⇒ kθ ≥ 84◦ X60W

,�
�.# -�� �� k = 7 ������ �� ��(� �S �
� $�
M &��S �� 
�D
� 
� ��� ���
� 
� �S �� �� !1�R� �
� �� .�1 �
��D� �m� �� �� G>P )� �V# 6�F� (9�)�V#

,�
��D� 6���� �� �������� 6���F� ,�1�.# �+ -� F� �� w0 
� ���1� -� H�� �� �� ���� ���P
��#�N k + 1 $� G>PM &��S 1� -H�� 1 vk �� ^������ ��#�N k + 1 $� G>P m &��S -H�� 
� �$����
�� �������� $� ?
 �� �� ���	� 1 
3��� 
� .D�0
�� $� ���R��� �� ,�
��:.# wk+1 1 uk �� ������

,����.# �
$ g� ��1 �

uk+1 =
2m

M +m
v2k +

M −m
M +m

uk

v2k+1 =
M −m
M +m

v2k − 2M

M +m
uk. X61W

wk+1 =
2m

M +m
v2k+1 +

M −m
M +m

wk

��
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v2k+2 =
M −m
M +m

v2k+1 − 2M

M +m
wk. X62W

�� 1 .'>P �̂ 1 � 6�F� �� 5�� ������(# �
� ,�
��� ��% -RS .� 'i�/� 
� ����(# ���� ?
 �S�
� ��
1 Z ������(# 6� G� 2 �� ,��*� G2 ������.# wk = DZ2k+1 1 uk = BZ2k 1 vk = CZk 
� ��o:�S

,�*
�.# -�� �� D/C 1 B/C

Z = e±iφ, cosφ :=
M

M +m
D

C
=
B

C
=

1

2M
[−m± i

√
m(m+ 2M)]. X63W

$� ���c!��>H wk 1 uk �vk

vk = Ceikφ + C∗e−ikφ

uk = Be2ikφ +B∗e−2ikφ

wk = Dei(2k+1)φ +D∗e−i(2k+1)φ. X64W

,�*
�.# -�� �� wk 1 uk �vk ����1� 
� ��-H�� �� �0��� ��
,�����% GC1 ���
� �� 1 �� �� k .� �<� d� 
�i �� ��� # �� *7 N + 1 g� ��� m �� �� # &� �S N (10�)�V#
�� ����(��G" Y# $� &�N k 
� ��� .
�S���S ,�
�1� -�� �� �� ��0�� �
� .� (�>k 
� ���#�0� ������.#

$� -�� !��>H ��&�S -��2 
� ����(# !��C �
� �� ,�
��:.# xk

mẍ1 = k(x2 − 2x1)

mẍ2 = k(x3 + x1 − 2x2)
...

��



mẍn = k(xn+1 + xn−1 − 2xn)
...

mẍN = k(xN−1 − 2xN) X65W

,��� �CA� 
$�# 9� �% 1� �� ����� ����(# ?
 �� 6���.# �� ����(# ���� �
�

mẍn = k(xn+1 + xn−1 − 2xn), x0 = xN+1 = 0. X66W

1 G�0���R
� 
� ����(# -�� ������ �� 6�#$ �� �T�# �� ->0� ����(# �
� ,�*�0� ���T�# 1� ������(# �
�
J� �<��� �� ����� ,-�� .'i�R� 
� ����(# ?
 �-�� ��00: 1 ��� 
� ���F% �� n|� ��% �� ->0�

,����.# �
$ 
� .'i�R� 
� ����(# �� 1 2��*�.# ���T�# ?
 �� ����(# xn = Cneiωt

−mω2Cn = k(Cn+1 + Cn−1 − 2Cn), C0 = CN+1 = 0. X67W

,�
�1�.# -�� �� �� Z �S6� $� 1 ��*�.# 
��o:�S �� Cn = CZn Z� �2 ����(# �
� G� 2 
� ���

Z2 + (
ω2

ω2
0

− 2)Z + 1 = 0, X68W

.���C �� ,Z1Z2 = 1 O�� 
� ����(# J� ��S 1� J� �iG� C�2 �� -�� pi�1 ,ω0 :=
√
k/m �S�
� ��


�D
� 
� �$���� 1 ��4�5� .	
 
� �$���� .*(
 ��� Z� �	(# 1 ./�/2 Z 
� ��J��S ��%�� ω ≥ 2ω0 ��
1� !��C �� �� ,�*�0� $�7 Z 
� ��J��S ��%�� ω < 2ω0 �� .���C �� ,�*�0�?
 $� ��?+��

,-�� J��S 1� �
� 
� .B� d� ���� .'� J� ��S 1 �� Z� �	(# J� ��S

Cn = D1Z
n +D2Z

−n. X69W

,-0�� ��4�5� ?
 $� ^��$���� �� �
��:.# .���S �� Z
�
� .� *(# ,��%.# -
�M�.� Cn ���:1 ��% �RC �
�� D2 d� 
�i ��%�� ω ≥ 2ω0 1 N →∞ �:�

,��%.F� �<� �	>% �� 2ω0 $� ��4�5� 
� �������7 �� �� ��#� �� -�� 6� n�2
1 D2 = −D1 ����.# ����� �� �C0 = CN+1 = 0 ��� 
�1�Y# �� ��(� 
� ���

ZN+1 − Z−(N+1) = 0, ⇒ Z2(N+1) = 1 X70W

���P�� 6���.F� ?
 $� ��?+�� �
 ��4�5� 
� �$������ g'�<# 
��H �
 1 ./�/2�Z 
� ��� �� �B��� �
�
���%.# ����� Z = eiθ $�7 ?
 !� ��C �� Z �� �7�: ��,���

θ =
sπ

N + 1
, s = 0, 1, 2, · · · X71W

9� ���/) Fxn = 0 �� ��D�E D� F� ") 

 "3(�&� ��
 ��
 	 �/��� 0��% %
 D=��� *66� �� "3(�&� 
( G�
�C2

��07 �� 
�) H��I� J� )�$'K�	 � �
�$�� LM 9��
 ���#")�# 9∂/∂t 90��% -� �A$ ���D�E �) F ���D�E ", ��
 BC
	
���
 0��% -� �A$ ���D�E J� )�$'K�	 Cneiωt �� )� )
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$� -�� !��>H xn 
� ��� J��S �
��.'� -�� ./�/2 xn �� �
� �� �7�: �m� �� ��

xn = D(einθ − e−inθ)eiωt +D∗(e−inθ − einθ)e−iωt. X72W

�


xn = (E cosωt+ F sin ωt) sinnθ. X73W

,�
�.# -�� �� �*�0� �� N �� ��0�� .� (�>k 
� ���#�0� X68W 
� ����(# �� Z = eiθ 
� ��o:�S ��

ωs = 2ω0 sin

[
sπ

2(N + 1)

]
, s = 1, 2, · · · , N. X74W


� ��-��2 ,-0�� )�>P G� ��P �� ���%.# xn = 0 J� ��S �� ��*# s = N + 1 1 s = 0 
� ��-��2
,�*��.F� 
�
�S �� #�0� s > N + 1

�� ��� # �� *7 2N + 1 g� ��� 6��# �� ?
 !��C �� M �� �� # &� �S N 1 m �� �� # &��S N (11�)�V#
-�� �� �� ��0�� �
� .� (�>k 
� ���#�0� ������.# ,�����% GC1 ���
� �� 1 �� �� k .� �<� d� 
�i

,�
�1�
�CA� 6���.# �
$ 
� $�# 9� �% 1� �� ����(# 1� �� �� ��&�S -� ��2 
� ����(# ����� 6� ���P �� �%�� ��

,���

Mẍ2n = k(x2n + x2n−2 − 2x2n−1)

mẍ2n−1 = k(x2n + x2n−2 − 2x2n−1), x0 = x2N+1 = 0. X75W


� ������(# �� O�� 
� ������(# �� x2n = B2neiωt 1 x2n−1 = A2n−1e
iωt 
� ��Z�2 
��o:�S ��
,����.# 
���%-RS 
� .'i�R�

−Mω2B2n = k(A2n+1 + A2n−1 − 2B2n),

��



−mω2A2n−1 = k(B2n +B2n−2 − 2A2n−1), B0 = A2N+1 = 0. X76W

�
�1�.# -�� �� �� B2n )1� 
� �B��� $�

B2n =
k

2k −Mω2
(A2n+1 + A2n−1), X77W

,��*�.# 
��o:�S 
�D
� �� 1[
(2k −mω2)(2k −Mω2)

k2
− 2

]
A2n−1 = A2n+1 + A2n−3. X78W


��|��% �� An �M*� 6�+ -�� pi�1 ��>�� ,����.# An 
� ��� .'i�R� 
� ����(# ?
 �� �# �S�
� ��
�
� G� 2 
� ��� ,�
�.# -�� �� ��7 
��|��% �� An �M*� g��1 � �
� $� ��% ���1 ������(# �� ���7
1 A2n−1 
� ��o:�S �� 5�� B2n ,�
��:.# A2n−1 = AZ2n−1 !� ��C �� �� J��S .'i�R� 
� ����(#

�
�.# -�� �� X77W 
� ����(# �� A2n+1

B2n = BZ2n, B :=
2k −mω2

k(Z + Z−1)
A. X79W

,�
�.# -�� �� Z 
� ��� �
$ 
� ����(# X78W 
� ����(# �� A2n−1 = AZ2n−1 
� ��o:�S ��

(2k −mω2)(2k −Mω2)

k2
− 2 = Z2 + Z−2

⇒ ω4mM − 2kω2(m+M)− k2(Z − Z−1)2 = 0. X80W

��*�0� �
$ !� ��C �� B2n 1 A2n−1 
� .'� J� ��S ,�*�0� �� Z� �	(# Z 
� ��J��S G>P )� �V# G� V#

x2n−1 = AZ2n−1 + A′Z−2n+1

x2n = BZ2n +B′Z−2n. X81W

�B0 = 0 
� 
$�# 9� �% $� ���R��� �� ,���c9���# �� �� X79W r� ��B# XB
′ 1 A′ ��k��F� 1W B 1 A

,�*�.# ��(# �� Z ����/# A2N+1 = 0 
� 
$�# 9� �% ,��%.# B = B′

Z2N+1 − Z−(2N+1) = 0, ⇒ Z2(2N+1) = 1 X82W

���%.# ����� Z = eiθ �� �7�: �� ,��� ���P�� 6���.F� ./�/2�Z 
� ��� �� �B��� �
�

θ =
sπ

2N + 1
, s = 0, 1, 2, · · · X83W

,�
�.# -�� �� ��0�� .� (�>k 
� ���#�0� 2N �X78W �� Z 
� ��� ���/# �
� 
� ��o:�S ��

(ω±
s )2 =

k

µ

[
1±

√
1− 4µ2

mM
sin2 θs

]
, s = 1, 2, · · · , N. X84W
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�� �*� 1 ω+
s ≥

√
2k/µ �� -�� pi�1 ,M > m ��*� ��7 ,µ := mM/(m+M) �B��� �
� ��

$� ,-�� $�7���� �I �1��# 
� ��&�S -� ��2 �� -�� .�P1 �� 9���# ���#�0� �
� .*(
 ,B/A ≤ 0 �
�
-� ��2 �� -�� .�P1 �� 9���# ���#�0� �
� .*(
 ,B/A ≥ 0 �
� �� �*� 1 ω−

s ≤
√

2k/µ �D
� n� �k
A= V# .*(
 �-�� ��7 !��� �� ��(� �� .�P1 
� ��� �'`0# ��F� -�� J�� ,-�� $�7�� �1��# 
� ��&�S
�����
� $� .	
 �� -�� �
� �D
� d� ��S -� ��2 ,��*� .���� �-�� �� M $� ����� .	
 �� m �� ��(�

,�
��� ��%���1 
� ���:6���� !��C �
� �� ,�%�� ��%�� @*���� -��2
�� 1 �$���� ?
 �� ��:)1 &�P �� �� ,��*� .���� �� 6��/�# -�  :)1 
� �'`0# ��
��� O�2 (12�)�V#
Pn,s �� �%� � s 6� �	# �� &�N n &��P �� �� 6� )� �F�2� ,�1�.# -��� � 
 1 �+ -� F� �� 1/2 )� �F�2�
(s+1) �
 (s− 1) 6� �	# �� &�N n &��P �� �
�� ��%�� s 6� �	# �� &�N (n+ 1) &��P �� �� 6� 
� ��� ,�
��:.#

,�%��

Pn+1,s =
1

2
[Pn,s−1 + Pn,s+1] . X85W
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�

Gn(Z) :=

s=∞∑
s=−∞

Pn,sZ
s X86W
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�����(# ����# 
� ����(# $� ���R��� 1

Gn+1(Z) =
1

2

[
ZGn(Z) + Z−1Gn(Z)

]
,

⇒ Gn+1(Z)

Gn(Z)
=
Z + Z−1

2

⇒ Gn(Z) =

(
Z + Z−1

2

)n

G0(Z). X87W
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� $� �� �P0,s = δs,0 !��C �
� �� ,�
��:.# !�]�<#��t�># �� ��:)1 
� ���1� 6� �	#

G0(Z) =

s=∞∑
s=−∞

P0,sZ
s =

s=∞∑
s=−∞

δs,0Z
s = 1 X88W
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Gn(Z) =

(
Z + Z−1

2

)n

= (
1

2
)n(Z + Z−1)n

=

m=n∑
m=0

n!

m!(n−m)!

Zn−2m

2n
X89W
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�.# -�� �� Pn,s ���"�# b� ��� u� 
�(� �� J��S �
� 
� �0
�/# 1 s := n− 2m ���T�# ����T� ��

Pn,s =

⎧⎨
⎩

n!
[(n−s)/2]![(n+s)/2]!

1
2n , n+ s = �1$

0, n+ s = ��7
X90W

���.# ����� )�F�2� 
� �/� ,���� 5�� 
�D
� l� ��� ��"�#b� ���

Gn(1) =

s=∞∑
s=−∞

Pn,s = 1. X91W
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�*� ������.# ��"�#b� ��� d� 02 �� �� &�
N n &��P �� ��:)1 g� ���# 6� �	#

dGn(Z)

dZ

∣∣∣
Z=1

=

s=∞∑
s=−∞

sPn,s = s̄. X92W
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